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SECTION - A (PHYSICS)
I. Choose the best option and write the answer:

(1x5=5)
1. Which of the following is a non- luminous body?

(a) Moon (b)Sun (c) Bulb (d)Burning
candle
2. A.P.J. Abdul Kalam contributed to the development of missiles

(a) Prithvi (b) Agni and Akash (c) Akash (d) Prithvi and
Agni

3. The lighter part of the shadow is called
(a) Reflection (b) Umbra (c) Eclipse (d) Pen umbra

4. A person heats water and says that water boils at 1009c. The order of the
steps
of Scientific method involved in this is:
(a) Identification & Observation , experimental verification , Conclusion,
hypothesis.
(b) hypothesis , Identification & Observation , experimental verification ,
Conclusion.

(c) Identification & Observation , hypothesis, experimental
verification,

Conclusion.

(d) hypothesis, experimental , verification , Conclusion , Identification
&

Observation

S. The speed of light is .
(a) 3x 108 m/s (b) 3x105m/s (c)3x10°km/s(d) 3 x 108km/s

II. Answer the following in one sentence:

(1x2=2)

6. I laid the foundation of atomic energy research in India—Who am I?
7. Why do we need a standard units?

III. Answer the following in two or three sentences:
(2x3=6)
8. What is parallax error? Name the SI unit of temperature

9. Explain the two types of transitory motion when a person is driving a car
on

the road.
10. Differentiate between the convergent and divergent rays with diagram.

IV. Answer the following:

(3x4=12)

11. List out three uses and three misuses of Science

12. Classify the following into opaque, transparent and translucent objects:



Oil paper, book, diamond, distilled water, spectacle, conical flask
13. Differentiate between revolution and rotation. Illustrate with examples.
14. Mention the types of motion associated with the following:
(a) spinning top (b) an athlete running in a circular track.
(c) a person riding a bicycle.

V. Answer in detail:
(5x1=5)
15. With the help of a neat diagram describe the formation of a solar eclipse.

Raju suggested his friend not to view the eclipse with naked eye. Why?
What

value will you incur from this?

SECTION - B (CHEMISTRY)
I. Choose the correct answer.

(1x5=5)
1. A prolonged period of low rainfall leading to shortage of water
(a) Drought (b)Flood (c) Tidal waves (d)Cyclone

2. The freezing point of pure water is
(a) 100°c (b) 10c° (c) O °c (d) 30°c

3. Identify the non-renewable resource
(a) Air (b) Sun (c) Water (d) Natural
gas.

4. When a solute is dissolved in a solvent, a solution is obtained. This process
is

called
(a) Filtration (b) Sedimentation (c) Distillation  (d) Dissolution

5. Identify the biodegradable waste

(a) Glass bottle (b) Plastic leaves (c) Aluminium cans (d) dried
flowers

II. Answer the following in one sentence:

(1x2=2)

6. What is rainwater harvesting?

7. Shredding of paper is a physical change. Justify the statement.

III. Answer the following in two or three sentences:

(2x3=6)

8. Differentiate between slow and fast change by giving suitable examples.
9. Write any two causes for water pollution.

10. What are the two ways by which biodegradable waste is recycled.

IV. Answer the following:

(3x4=12)

11. Explain water cycle with the help of a diagram.

12. Mention any three advantages of recycling plastics.

13. Classify the three types of non-biodegradable waste based on its impact
on

human health.
14. What is a chemical reaction ? Give an example of a chemical reaction and
identify the reactants and the products.



V. Answer in detail:
(5x1=5)
15. (a)Distinguish between reuse and reduce of waste.

(b) List any three ways by which you can contribute to the better disposal
of

waste.

SECTION - C (BIOLOGY)
I Choose the right option from the following.

(1x5=5)
1. This plant requires support to grow
(a) Money plant (b) Bougainvillea (c) Tulsi (d) Strawberry
2. The average life span of bacteria
(a) 150 years (b) 100 years (¢ 3years (d) 20 minutes

3. The layer of fat that protects organisms from cold weather
(a) Flippers (b) Wheat (c) Fern (d) Tomato

4. The herbivore does not have this teeth
(a) Molars (b) Canines (c) Premolars (d) Incisors

5. This is an adaptative feature of lion living in the grassland
(a) Has a light brown coloured skin.
(b) Has long legs with weak claws.
(c) Eyes are on either side of the head.
(d) The body is covered with leathery scales.
II Answer the following questions.
(1x2=2)
1. What type of root is found in a Banyan tree. Write its special function.

2. What are plants growing in water called? Give examples.

III. Answer the following in two or three sentences:
(2x3=6)
3. (a) Identify the organism and the type
of reproduction it undergoes.
(b) Define reproduction.

St e

4. Explain the role of decomposers and scavengers in our environment.

p
Z

5. (a) Which part of the plant is this?
(b) How does this part help the plant?

II. Answer the following questions.
(1x2=2)



1. What type of root is found in a Banyan tree. Write its special function.

2. What are plants growing in water called? Give examples.

III. Answer the following in two or three sentences:
(2x3=6)
3. (a) Identify the organism and the type

&

of reproduction it undergoes.
e
A

(b) Define reproduction.

4. Explain the role of decomposers and scavengers in our environment.

5. (a) Which part of the plant is this?
(b) How does this part help the plant?

IV. Answer the following:
(3x4=12)
6. (a) Draw a cactus.
(b) List the features that help them adapt to the hot and dry weather.

7. A glacier grows in size .
Explain how the growth of the glacier is different from other organisms.

8. Give one word for
(a) Organisms made of single cell
(b) The process of inhaling oxygen and exhaling carbon dioxide.
(c) The study of living things.
(d) The process of preparing food by green plants.
(e) The process by which wastes are thrown out from the body
(f) Animals that are active in the night.

9. Draw a neat labelled diagram of a typical flowering plant.

V. Answer in detail:

(5x1=5)
10.(a) Identify the types of roots in picture A and B U W
(b) Compare the two types of roots. \ NN

(c) List the functions of the roots.
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General Instructions

This paper contains four sections:

Section A - Reading- 20 Marks
Section B - Writing - 25 Marks
Section C - Grammar- 20 Marks ° .
Section D- Literature- 25 Marks

All Sections are compulsory i P

E

SECTION A READING

1. Read the following passage and answer the questions :- 10 MARKS
= 3

A long time ago, when animals could talk, thers lived in a forest four wise
creatures—a hare, a jackal, an otter and a n}onkey‘.' They were good friends and
every evening they would sit together in a forest glade to discuss the events of
the day, exchange advice and make good resolutions. The hare was the noblest
and wisest of the four. He believed in the supéfiority of men and women and
was always telling his friends tales of human goodness and wisdom.

One evening when the moon rose in the sky- and in those days the
moon’s face was clear and unmaried —the hare looked up at it carefully and
said “Tomorrow good men will olbserve a fast, for I can see that it will be the
middle of the month. They will eat no food before spﬁ—set and during the d4dy
they will give alms to any beggar or holy man who may meet them. Let us
promise to do the same. In thai way, we cail come a little closer to human
beings in dignity and respect”. The others agreed and then went their different

ways.

Next day, the Otter got ‘up, stretched himself and was preparing to get
his breakfast when he remembered the vow he had taken with his friends. “If I
keep my word , how hungry I shall be by evening!” he thought. “I'd better make
sure there’s plenty to eat once the fast is over.”He set off towards the river.

A fisherman had caught several large fish-early that morning and had -
buried them in the sand, planning to return for them later. The Otter soon
smelt them out. “A supper all ready for me,” he said to himself, “But since it’s a
holy day, I mustn’t steal.” Instead he called out, “Does anyone own this fish?”
There being no answer the Otter carried the fish off to his home, setting it aside

for his evening meal. )
. RUSKIN BOND
i+ ({from The Hare in the Moon)
(a) Complete the following statements : 1x4=4M
(1) "The hare was a noble creature'because he

(i) The hare thought that if the four friends kept a fast and gave
alms '




(c)

(iiij The otter went in search of food so that : '
o
e P

(iv) . The otter detected the presence of fish under thef:_f_;g’r;}l_:_:y .

Answer the following questions

(i) = How did the hare come to the conclusion that human beings were

supposed to fast the following day? - 1M
(i) Why dicrl"ch_e"foufr ;’riends meet every evening? 1M
(i) What noble deed was usually performed on the day of the fast?
What suggestion did the hare put forward? 2M
Find words from the passage which mean the following:- 2M

A main meal eaten in the evening
Decisions

Read the poem carefully and answer the guestion that follow:-
" 1x5=5M

The ‘Veggy’ Lion

I'm a vegetarian Lion,

I've given up all meat’
I've given up all roaring
All I do is go tweet-tweet:

I never ever sink my claws
Into some animal’s skin,

It only lets the blood run out
And lets the germs rush in.

I used to be ferocious,

I even tried to killl

But the sight of all that blood
Made me feel quite ill.

I once attacked an Elephant
I sprang straight at his head.
I woke up three days later

In a jungle hospital bed

Now I just eat carrots,

They’re easier to kill,

‘Cos when I pounce upon them,
They all remain quite still!

()

(b)

c)

(SPIKE MILLIGAN)
The sight of the blood makes the lion

(i) greedy (ii) sick (iif) hungry (iv) happy
What remains still, when a lion pounces upon it?
(i) An elephant (ii) carrot (iii) deer (iv) tweety bird

What happened to the lion when it attacked an clephant?
(i) the lion became unconscious ‘ (ii) the lion died

(iii) the elephant also attacked the lion (iv) the lion broke his bones

(d) Why did the lion stop roaring ?

i) It had a sore throat (ii) it had stopped being ferocious

(iii) it did not like the sound of roaring (iv) the elephant asked him not to

roar
(—) ﬁ:)r\Cl

Cll Mptoteed B0 AN H._i.)/ r.l.. s . 2



2. Read the given passage carefully - ; 1x5=5M

The flightless ostrich is the world’s largest bird. They roam in the African
savanna and desert lands and get most of their waier from the plants they eat.
Though they cannot fly, ostriches are strong runners. They can run up to 43
miles (70 kilometers) an hour. They may use their wings as “rudders” to help
them change direction, while running .An ostrich’s powerful long legs can cover
10 to 16 feet (3 to 5 meters) in a single stride. These legs can also be dreadful
weapons. Ostrich kicks can kill human or other garnivorous animals. Each
two-toed foot has a long, sharp claw. Ostriches * live in small herds that
typically contain less than a dozen birds. All the hens of a herd place their eggs
in one nest, each one of which weighs as much as two dozen chicken eggs. The
hen and the the male, both take turns Iookmg after the giant eggs.

Contrary to popular belief, ostnc*hes do 1'_10_ bury their hedds in the sand.
The old saying probably originates due to the bird’s defensive behaviour.

On the basis of your reading choose the correct answer;.
(a) Ostriches can kill a human beincg with their
(i) hands (ii) wings (iiijneck (iv) legs
(b) Usually ostr‘iches live together
() A dozen (ii) less than twelve (iii) more thaa twelve (iv] two dozen
(c) An ostrich can run -
(i) 70.miles an hour (ii) 43 miles an hour (iii) 16. miles an hour (iv) 3 to
Smiles an hour '
(d) Ostriches get most of their water:‘ from
()insects (ii)seeds (iii)plants (iv) lakes
(¢) The old proverb originates due to the :
' () Bird’s defense mechanism (i) bird’é attitude (iii) bird’s appearance (iv)

none of the above. -
SECTION B WRITING

4, Write a letter to your Grandmother thanking her for sending you the
birthday gift. (word limit-100 words) . - ™

B. Read the conversation between SACHIT and 'SUNIL’ As Sachit had to go
out with his friends, he left a message for Sunil. Write the message in not more
than 50 words. Put the message in a box. o 4M

Sunil: May I talk to Sachin please?

Sachit: He is not at home right now. I am his elder brother Sachit. Is there
anything important to be conveyed to him?

Sunil: Yes, I am his friend Sunil. Sachin has my History book. Please tell him
to bring the book with him while coming for tuition, as I have to learn the notes

for the class test tomorrow.

Sachit: Anything else?
Sunil: No, Thank you.
Sachit: I'll inform him.



i) Wise an Autobiography on a “BICYCLE® in not more than 80 words.
6M
. Look at the pictures.of Raj and Ram, who hawe won an award for their
Bemwery. Write a story based on the pictures given; (word limit 120-150

‘N , SECTION C GRAMMAR ‘
8. Complete the following passage with the help of the options given in the
brackeis 2 X 8 =4M

(a) {vet, though, so ,or) my great grandfather is old, he is healthy
(b} {and, so, since, as) fit. C) (after, when, yet, and) tea he
likes to play a game of tennis with my father. He enjoys watching cricket
maiches em ielevision d) (because, and ,but ,if) sometimes he
volunteers to bat for us. ¢) _ (since, however, or, if) he is almost ninety
years old, mest of his friends are also eighty years old. Some of them are active
f) (while, since, so,or) others are weak and frail. However they meet over
tea once a month. They take turns at inviting the athers over to their homes
g land, after, if, so) sometimes they meet in the park. h)

(when, while, or, but) grandfather had the get-together at our house, we

decided o make it 2 memorable evening for him.

Qo. Fill m the blanks by using the correct form of the verbs given in the
Y2 x 8 =4M

brackets

Mother: I (a) (try, tried, trying, tries) to contact you for the last one
hourl Why haven't you (b) (take, taken, took, takes) my calls? I
(c) (worry, worried, worries, was worried) about you. Where (d) (was,
has, had, having) you (e) (be, been, being, beings) all this while?

Son: I am calling you from a friends house. I left my phone in the taxi. I
] (try, tried, tries, will try) to contact the taxi driver but he (g) (is,
was, has, were) not (h) (be, being, been, had been) taking my call.

5 1k

10. Fill in the blanks with appropriate articles Yo x 8 =4M

There are a) few people standing outside b) : school gate.
They have been waiting there for ¢} hour and d) half. They are
seeking admission to €) Junior KG class in {) School. g)
anxious parents are worried that h) Principal may refuse to see

them.
n



1.

The following passage has not been edited, there is an error in each

line. Underline the incorrect word and write the correct word as shown in

the example. Y x 8 =4M

Yesterday Trisha went in an evening walk. _- Ex (a) For '

Through the way she came across an old - ()]
fFriend with hers and together they went - - (=)
in a restaurant for coffee. Finally, when ‘ . (d)
she returned home on 9 PM . Her mother - (e)
was really furious at her. She told Trisha {H
that had she comes home late again. She will - 1g)
stop talking with her and also will not ¢ (h)
send her in her friends anymore. o @) '
120 Rearrange the following words into meanmgful sentencesl X 4 4M
(@) was/ by/discovered/ in1524 /New Yorkf’.[tahan navigato [
(b)  the largest/ Port city/of/it is/United States.
(c)  bank of/Hudson River / lies/New York city /on the
(d) . love to/would/this place [visit/ I
SECTION D LI@ERATURE
13. Read the following extracts and choose the correct options 1 x3=3

(A) It is just a coincidence. He must have}one off on his own account. If he
had been here no thief would have dared come- 1%1

9?”"’\ a

(B)

(@) The speaker is : %"

(i)  Attila (ii) Ranga (iii) Defender  *

(b)  The word “coincidence” mearis

(i) Accidental (i) temporary (iii) Permanent

(o) The speaker did not like his mother commenting because

(i) . He was angry with his elder brother (ii) Attila was his pet (iii)
Ranga was his friend.

“When everything around you seems dark and gloomy, you shall see the

glimmer of my rainbow wings on the ceiling *of your cottage. From now on,

you'll never be alone”.

1x3=3

(a)  The speaker is ‘
(i) Pandora (ii) Epimetheus (iii) Hope -

‘-

(b)  The word “gloomy” means
(i) happy (ii) Dull (iii) Angry

(o) The speaker assured Pandora that
(i) Winged creatures will not be alone (ii} Children will be alone (c) there

is glways a ray of hope for everyone



14.  Read the extract and answer the questions that follow- 1X3=3
The dentist’s face was turning white. He quivered, quaked and shook

He muttered, "I suppose I’m going to have to take a look”.

“I want you” Crocodile declared, *to do the back ones first

The molars at the very back are easily the worst.”

He opened wide his massive jaws. It was a fearsome sight.

() Why was the dentist’s face turning white?
(b)  What was a fearsome sight?
(c) Why did the crocodile gsk the dentist to do the back ones first?

15.  Answer the following questiohs (Any Four) 2x4=8

(a) What effect did the aét of opening the mysterious box have on the
world? 3 .

(b) Attila’s appearance was very deceptive. Explain?

(c) What request does the poet make to the wind and how can we
make friends with the wind?

(d) Why did Miss Beam make her students pretend to be disabled on
various days over the course of the week? ;
(e) What was the trde identity of the man? How had Mrs Blake
mistaken him to be the killer?

16.  Answer any one of the following questions: 1 X8 =8

(a)  Imagine you have visited Miss Beam’s  school. Write a paragraph

expressing your feelings on your v‘;’_:é.it.
¥ .

OR

(b}  Imagine that you are Pandora, you feel guilty because you opened the

box which released many troubles- and evils into the world. Pen down your

feelings in the form of diary entry when the winged creatures caused havoc.
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SECTION A - =+

Choose the correct answer: g ) o 8X1=8

1) One less than one lakh is :

a)9999 b) 99999 ¢y 999999 d) 90000

2) The property used in the given equation is ‘

175 + (195 + 25) = (25 + 175) + 195

a) Commutative property b) Distributive property

c) Associative property d) tdentity property

3) A number which is an exact divisor of anoth.er number is

a) multiple b) factor c) prime numbe:r- d) composite number
4) Which of the following numbers when divided by 6 leave remainder 5

a)6 ' b)30 . )40 .  d)65

5) The number of rays drawn in the given figu}e is

a) 6 b) 7 % :

c)8 d) 9

6) The complete angle =

a)0° b) 90° c) 180° + d)360°
7) The number of circles to be shaded to represent Sleis _
a)3 b) 5 - O 0000
c)6 : d) 10 Gilichicie gl

8)The decimal number that is represented by point P'

e | : t
0 p 1

a)0.2 b)0.4 c) 0.6 d)0.8
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o/

17) Fill in the smallest digit in the blank space.
a)32_386 so that the number is divisible E\i 3
b)8960_  that makes the number divisible by 2

c)3811_  so that the number is divisible by 4: '

18) Name the following and complete the cross word.

il ’-.')

DOWN

i) A special parallelogram having its sides

and angles equal in measures o
ii

ii) A solid shape with six rectangular faces.

ACROSS

o
s
3

iii) Six sided polygon

19) Draw a rough sketch of polygon and draw as many diagonals as possible inside it.

How many diagonals can be drawn?

20) Raju accompanied his servant to the market. Servant purchased 4kg rice for Rs
85.75 and 3kg wheat for Rs 66.25. What i is the total.cost? Servant paid Rs 200 to the
Shopkeeper and got a change of Rs10. Raju hefpeg sthe servant to get a correct

change. What change did the servant get? What n;?bra‘f value do you learn from Raju?

21) Fill the blanks - -

a)__ 4+ =Y b).%+1+%+;;-:2i{; :
&)~ =10 A% = -
e)3%+ =4 f) 3;'___= 6%

22) Express the following in kg. i
a) 3g

b) 37kg 50g

c) 8750g

23) How many triangles are there in the given figure? Name them.

A




T
{1 —wy o2

24) Identify and hame them. ABCD is a quadrilateral.

A

D a) Two pairs of opposite sides
b) Two pairs of adjacent sides

£) Two pairs of opposite angles

SECTION D 4X10=40
25) Using these digits 4, 9, 6, 0,8 and 5 answer the following
a) Frame the greatest number.; .
b Expand the greatest number.
c) Wirite predecessor and successor of the greatest number.
d) Find the sum of the place value of 4 and 8 from the greatest number.

26) Give numerical representation of the following number lines.

a) /’9\
i
b) ,

d)
o § % 3 4 -85 & 1 8

27) Find the product of 8431 X 104 using suitable property.

28) Say true or false, the LCM of 48, 72, 108 is 210. Justify your answer.



29) The length, breadth and height of the room is 600cm, 675cm and 450cm. Find the
longest tape which can measure the three dimensions of the room.

30) Draw a) cube b)Square based pyramid. Write the number of faces and vertices of

each solid shapes.

31) Arun ate 2/ of a pizza. Shruti ate % of the pizza while Shweta ate the remaining
part of the pizza. Find the portion of the pizza that Shweta ate? '

32) Arrange %, /s, /a0, 16, “/1sin ascending order,

33) Place 216.734 in the place value chart of the decimal numbers.
34) Write in decimal form.

a) 800 + 4 + °/10 + */1000

b) 90 + 0.09 + 0.8

c) 300 ones + 4 hundredths +1 thousandths

d) Seven hundred seven point seven severiseven.
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Answer the following in one sentence each B 1x5=5M
1) What does patriarchal family mean ? '

2) Why were most of the tools of early man made from stones ?

3) Explain coalition government. . :

4) What was the position of women in the Aryan society ?

5) What do you understand by regional disparity ?

Give short answers for the following (3 to 4 sentences) 3x10=30M
6) Discuss the important factors for the fise of Magadha.

7) A dictator is not responsible or answerable to the people.Analyse.

8) What is the importance of belonging to a group? )

9) Nelson Mandela is known the world over- Examine.

10) Do you think writing on a hard surfice such as stone or metal is more useful .
than on a soft surface like paper. Give reasons in support of your answer.

11) Peoples awareness and participation is important for healthy functioning of
democracy. Why ? : :

12) Describe the journey of man’s life through various ashramas according to
vedic tradition.

13) Suggest three things which can make a democratic government successful.
14) Examine the theories given for the decline of the Indus valley civilization.
15) Identify the system shown in the picture below and write about it.

Give long answers for the following- (5 to 6 sentences) 5x5=25M
16)a) Geographical features have influenced history of India. Examine.

b) The cave paintings in Spain indicate man was a great artist- Analyse.

17) a) Mention three measures to check the declining sex ratio.

b) Write any two drawbacks associated with democracy. ] \

18)a) Which invention is regarded as the teci_lglological e ,,cc‘.alution ? What change-
did it bring in the life of early man ? B .
b) What was the difference between republics and monarchies ?

19) .- What is untouchability ? What are the-constitutional provisions that abolish
untouchability ? '

20) a) Man is considered as a social animal- Explain.

b) The progress of a nation depends on unity- Explain. i

1



Geography

Answer in one sentence Ix3=3M
1) In which year were you born ? Was it a leap year ? Justify.

2) If you happen to be in the temperate zone, what type of climate would you
€Xperience ?

3) The equator passes through DRC. In which climatic zone does jt lie ? :
Give short answers for the followin (3 to 4 sentences . 3x4=12M
4) Artificial satellite is one of man’s greatest achievements. Write 4 short note on
this. |

5) a) Define- Equinox.

b) Write the effects of Rotation and Revolution,

6) a) What is a sketch ? How is it helpful to people ?

b) Define- Scale.

7) Explain with a diagram Winter Solstice in the northern hemisphere.

Give long answers for the following- (5 to 6 sentences . 3x3=15M
8)a) Explain any three features of celestial body that you see in the sky during the-
day, .

b) Describe-any two planets that you would like to visit.

9) a) Describe the characteristics of parallels of latitudes and the meridians of
longitudes. (2 points each) .

b) Explain the Standard meridian of India. -

10) 2) Explain the yse of a magnetic compass.

b) Are thematic maps important ? Justify your answer.,

¢) Explain two difficulties we wil] face in the study of map if we do not have
conventional symbols.





